
math4u.vsb.cz

BASIC EXPONENTIAL INEQUALITIES I

MATCHING GAME
The goal of the puzzle is to make correct pairs of questions and answers with a minimalamount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

The principal aim of mathematical education is to develop certain faculties of the mind,
and among these ntuition is not the least precious.
Henri Poincare, French mathematician.Match each of the following inequalities with its solution set.
Inequalities

1 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

2 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

3 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

4 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

5 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

6 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

7 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

8 3x+2 > 91 + (12
)x

< 32 · 5x+3 − 1 < 97−x − 17 < 02 <
(12

)x−2(15
)x
− 11 < 1434x < 2− 81x4 <

(14
)x

Solution setsA x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1)B x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1) C x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1)D x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1) E x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1)F x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1) G x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1)H x ∈ (0;∞)x ∈ (−1;∞)x ∈ (−∞;−2)x ∈ (1;∞)x ∈ (−∞; 1)x ∈ (−2;∞)x ∈ (−∞; 0)x ∈ (−∞;−1)



Wow, what a wonderful job! Just be
careful about an alcohol party before an

exam. You could damage your brain
cells.

Great, you are very good at this!Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

You outdid yourself today!Awesome! Keep it up!Good job, but you are no Einstein yet!Good work, have a biscuit.You are so close to victory,
don’t give up!

A small step remains,
next time will be glorious!
You made some mistakes,

but you still deserve praise.
Hang in there, there is space for

improvement.
You can do better! You have to work

harder!
It is not bad, but it could be better.Not bad! In some areas you haven’t got

enough knowledge yet.
It is not so bad, but you still have

a lot to catch up on.
That didn’t end up very well.

You should study more.
Keep trying. It will be better next time.You got it. Don’t throw in the sponge!You made a lot of mistakes.

You aren’t good at this yet.
Could be worse!What a calamity!This is like a foreign movie to you;

you still need subtitles.
There was a time

Einstein couldn’t count to 10 either.
Your math knowledge

is just like the square root of −1.
Let’s pretend it never happened.




